




Select the most appropriate sentence with respect to 

grammar and usage.



1. Sunflower sea stars are vital in maintain a diverse 

ocean ecosystem.

2. Very little is knowing about the life cycle of the 

starfishes because the larvae are so tiny that they are 

very hard to monitor.

3. The Earth absorbs sunlight, then radiates it as heat.

4. Air pollution not only put a large burden on human 

health but also affects the climate on a large scale. 

5. None of these



1. Sharks possess an internal navigation system similar to 

GPS that allows them use Earth’s magnetic forces.

2. The solar wind affects other incoming cosmic rays 

interacting to planetary atmospheres.

3. Galileo discovered that the Sun is marked with 

sunspots.

4. The formation and evolution of Solar System began 

about 4.57 billion years ago.

5. None of these



1. Astronomers estimates that the current state of the 

Solar System will not change drastically.

2. The evolution of moon systems is driven by tidal 

forces.

3. Scientists estimate that the Solar System are 4.6 

billion years old.

4. A supernova is powerful and luminous stellar 

explosion.

5. None of these



1. The amount of oxygen found in seawater depends 

primarily on plants growing in it. 

2. Governments use fiscal policy influence the level 

of aggregate demand in the economy.

3. Digital currency has arisen with the popularity of 

computer and the internet.

4. A recession is a business cycle contraction when 

there is a general decline in economy activity.

5. None of these



Choose the synonym of the word 'Revising'.

1. Freezing

2. Altering

3. Stabilizing

4. Preserving

5. Setting



Choose the antonym of the word 'Cryptic'.

1. Lucid

2. Enigmatic

3. Arcane

4. Mysterious

5. Impenetrable



Choose the Antonym of the word 'liberty'.

1. authorization

2. choice

3. privilege

4. autonomy

5. prohibition



Choose the synonym of the word 'Subsequent'.

1. Ensuing

2. Previous

3. Prior

4. Antecedent

5. Precedent



Choose the antonym of the word 'Inevitable'.

1. Unavoidable

2. Uncertain

3. Unpreventable

4. Inexorable

5. Certain



Given below is a word, followed by three sentences which 

consist of that word. Identify the sentence(s) which best 

express(es) the meaning of the word. Choose option 5 

‘None of the above’ if the word is not suitable in any of the 

sentences.



IMPLICIT

A. New staff are trained to work without implicit supervision.

B. Her silence gave implicit consent.

C. The date for the meeting has now been implicit.

1. Both A and B

2. Both B and C

3. Only A

4. Only B

5. None of the above



DISHONOUR

A. A deep mutual dishonour and understanding developed 

between them.

B. Stealing reflects dishonour on your family.

C. One must dishonour one's parents.

1. Only A

2. Only B

3. Both C and B

4. Only C

5. None of the above



ADOPTED

A. The committee ultimately adopted his suggestions.

B. The child has now been legally adopted.

C. David de Gea was adopted from Spain's national team.

1. Only A

2. Both A and B

3. Only B

4. Both B and C

5. Only C



In the following sentence, five words are given in bold, out 

of which one word is misspelled. Find the misspelled word.



Mr. Putin’s purported(A) objective of ensuring(B) 

the security(C) of his country(D) will not be 

acheived(E).

1. A

2. B

3. C

4. D

5. E



South Asia became a major player(A) in the global 

textiles(B) and clothing market(C) with the 

onsett(D) of the third wave of global production(E).

1. A

2. B

3. C

4. D

5. E



We are also supporting(A) research and 

investment(B) to unlock Australian(C) critical 

minerals(D) for Indian advanced manufachuring(E).

1. A

2. B

3. C

4. D

5. E



In the following passage, some words have been deleted. 

Select the most appropriate option to fill in each blank.



There are at least two grounds on which the remission order appears 

___(1)___. First, the State government made a decision on its own 

without ___(2)___ with the Centre. Under Section 435 of the Code of 

Criminal Procedure, such consultation with the Centre is mandatory in 

cases ___(3)___ by the CBI. Further, the composition of the 

committee that recommended ___(4)___ for the convicts consisted of 

two BJP legislators. Ideally, a remission panel should comprise senior 

government officials in charge of home or law, a district judge, the 

prison superintendent, and officers who deal with ___(5)___ and 

rehabilitation of offenders.



There are at least two grounds on which the 

remission order appears ___(1)___. 

Select the most appropriate option to fill in blank 

number 1.

1. Refusal

2. Approval

3. Illegal

4. Intellectual

5. Conventional



First, the State government made a decision on its 

own without ___(2)___ with the Centre. 

Select the most appropriate option to fill in blank 

number 2.

1. Fascinating

2. Remitting

3. Motivating

4. Abducting

5. Consulting



Under Section 435 of the Code of Criminal 

Procedure, such consultation with the Centre is 

mandatory in cases ___(3)___ by the CBI. 

Select the most appropriate option to fill in blank 

number 3.

1. Curbed

2. Grabbed

3. Robbed

4. Probed

5. Clubbed



Further, the composition of the committee that 

recommended ___(4)___ for the convicts consisted of 

two BJP legislators. 

Select the most appropriate option to fill in blank 

number 4.

1. Remission

2. Commission

3. Possession

4. Depression

5. Impression



Ideally, a remission panel should comprise senior 

government officials in charge of home or law, a district 

judge, the prison superintendent, and officers who deal with 

___(5)___ and rehabilitation of offenders.

Select the most appropriate option to fill in blank number 5.

1. Exacerbation

2. Probation

3. Incubation

4. Conurbation

5. Approbation
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